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Quiz 9 Math 15 Spring 2018 Jones Name

1) (18 Points) Periodically during the last two and a half years my husband has gone out to do capacity runs to
determine the range of his Electric Mustang. The paired data below consist of battery age in years and the
range of my husband's EV in miles.

AGE (years) |02 03 0.8 1.0 1.2 15 1.71.8 2025
Range (miles) | 37 35 35 34 10 29 31333229
a) (3 Points) At the 5% level of significance, do the data provide sufficient evidence of an association between
the age of the batteries and the range of the car? r = =
Is there a significant linear corrolation? Yes No
b) (2 Points) Make a scatter plot of this data.

¢) (1 Points) Find the equation for and graph the regression line.

d) (1 Points) Based on the above data what is the best predicted range for the car after 3 years.

One of the batteries died and had to be exchanged. One of the capacity runs was done right before this
happened. The data point that corresponds to this run is an outlier. Remove it and redo the test for correlation.
Years[0.2 03 0.8 1.0 15 17 1.8 2025 : :
Range | 37 35 35 34 29 31 33 32 29
e) (3 Points) At the 5% level of significance, do the data provide sufficient evidence of an association between
age and range. '

r= =

Is there a significant linear corrolation? Yes  No
f) (1 Points) Find the equation for the regression line.

g) (1 Points) Using the data without the outlier, find the best predict ed range for the car after 3 years.

h) (3 Points) Interpret the slope of this regression line.

i) (3points) Find 2 and interpret what it means. r2=



Quiz 9 Math 15 Spring 2018  Jones Name

1) (18 Points) Periodically during the last two and a half years my husband has gone out to do capacity runs to
determine the range of his Electric Mustang. The paired data below consist of battery age in years and the
range of my husband's EV in miles.

AGE (years)| 02 03 0.8 1.0 1.2 1.5 1718 2025
Range (miles) | 37 35 35 34 10 29 31 33 32 29
a) (3 Points) At the 5% level of significance, do the data provide sufficient evidence of an association between
the age of the batteries and the range of the car? r = =
Is there a significant linear corrolation? Yes No '
b) (2 Points) Make a scatter plot of this data.
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o (1 Pomts) Find the equation for and graph the regressmn line.
d) (1 Points) Based on the above data what is the best predicted range for the car after 3 years.

One of the batteries died and had to be exchanged. One of the capacity runs was done right before this
happened. The data point that corresponds to this run is an outlier. Remove it and redo the test for correlation.
Years |02 03 0.8 1.0 15 1.7 1.8 2025 : :
Range | 37 35 35 34 29 31 33 32 29
e) (3 Points) At the 5% level of 51gmf1cance do the data provide sufficient evidence of an association between
age and range.

r= =
Is there a significant linear corrolation? Yes  No
f) (1 Points) Find the equation for the regression line.

g) (1 Points) Using the data without the outlier, find the best predict ed range for the car after 3 years.

h) (3 Points) Interpret the slope of this regressmn line.
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